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NEET MICRO TEST 7 (17.11.2024)

20x4=80 MARKS

Botany: Cell cycle & Cell division, Zoology: Locomotion & Movement

Chemistry: Redox reactions, Physics: Gravitation

1. The sequence of events in which a cell duplicates
its genome, synthesises the other constituents of
the cell and eventually divides into two daughter
cells is called

1) Cell division
2) Cell cycle

3) Karyokinesis
4) Cytokinesis

2. Interphase in also known as ____ stage and it takes
about 9% time of cell cycle:
1) Dividing, 95%
2) Dividing, 80%
3) Resting, 95%
4) Resting, 80%

3. Recognise the figure and find out the correct
matching.
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1) A — Early prophase, B — late prophase, C —
transition to metaphase

2) B — Early prophase, A — late prophase, A —
transition to metaphase

3) C — Early prophase, A — late prophase, B —
Transition to metaphase

4) B — Early prophase, A — late prophase, C —
transition to metaphase

4. How many chromosomes will the cell have at G1,
after S and after M-phase respectively if it has 14
chromosomes at interphase?
1)7,14,14
2) 14,14, 14
3)14,14,7
H7,7,7

5. Meiosis in diploid organisms results in:
1) Production of gametes
2) Reduction in the number of chromosomes
3) Introduction of variation
4) All of the above

1. @m 060 SIFHaT IUEI®  HBHCEVHHESLD
paeaysefler auflens, GFe0e06T BB TnBIHEN6IT
QoESmass  BuHuied Qe Gaul
CFevmenmaL LTl @ Hahe]

1) QF60 LI
2) QF6v &ipmdl
3) smflGuirenaGeudlerd
4) ena BLrenasBardlerd

2. @mLBleney __ Hlemev eIIBID SIeMpSBUILBS MBS
oppd & g gppdulesr  Gurgr %
CryHms ABSBBS)

1) uatiy, 95%
2) usiy, 80%
3) guial, 95%
4) guiay, 80%

(A) (B) ©)

1)  A-gyiusteo  (GymGuerd,  B-Lipengu
(1BymBuerd, C—GIol L mBLenr & @ OTMBIH6

2) A-gyibu Pemev, B-llbewsw  11GTGLIeD,
C-Guor” LmBuLienrd @ LomBIgHe0

3) A-gyibu Pemev, B-llbewasw  1GrTGLIeD,
C-Go Lr@uerra @, LommmLd

4) A-ayibu Blewev, B-ltipensuwr  1iBymGLer,
C-Go LmBuerrd @ LomBIge0

4. Gaevevreizs G1 Bev  eadHmen  GCymGuom
Gambsemend OaTWIYHEBGWD, S-d&L  LIBG
wppid M-plavevd@ll e, Sl Bameouisd 14
&CymGLonGambseT B(HHH6L (WenmGul?
1)7,14,14 2) 14,14, 14
3)14,14,7 47,7, 7

5. ®mww o uiflemhisefllsd GHaBeoLGUL B0
JBLGS B!
1) BanlFeoseaiar o (heuTdasd
2) &Cym@om@amibaseril 6t
GeMBLILY
3) GoumIum 19631 SIS (LPaBLD
4) BGoBev 26116 HINENTEHSHILD
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6. The vertebrae which bears the whole weight of the
skull is
1) Axis
2) Sacral
3) Cervical
4) Atlas

7. The H-zone in the skeletal muscle fibre is due to

1) extension of myosin filaments in the central
portion of the A-band

2) The absence of myofibrils in the central
portion of A-band

3) The central gap between myosin filaments in
the A-band

4) The central gap between actin filaments
extending through myosin filaments in the A-
band

8. Which one of the following statements is true

1) Head of humerus bone articulates with
acetabulum of pectoral girdle

2) Head of humerus bone articulates with glenoid
cavity of pectoral girdle

3) Head of humerus bone articulates with a
cavity called acetabulum of pelvic girdle

4) Head of humerus bone articulates with a
glenoid cavity of pelvic girdle

9. Repeated activation of the muscles can lead to
1) anaerobic breakdown of glycogen
2) accumulation of lactic acid
3) fatigue
4) all the above

10. Choose the correct sequence of vertebrae from
the following.
1) Cervical - lumbar-thoracic-sacral -coccygeal
2) Cervical - thoracic-sacral - lumbar -coccygeal
3) Cervical - thoracic-lumbar-sacral -coccygeal
4) Cervical - sacral - lumbar-thoracic -coccygeal

11. CH2 = CH2 + H2 — CH3 — CH3
The above equation
1) Oxidation of ethylene
2) Reduction of ethylene
3) Neither oxidation nor reduction
4) None of the above
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6. @b (LPeTOETEIDLITEIZ HLITeVGHIH6 6lewLulleneot
SHITHIBEUEVE0S
1) ey dbenilerd
2) gmébye0
3) BHBI (LP6TOGTEVIDL|EB6IT
4) I 60610

7. TVIDL| He0F BT 2_6iTen H-106wTL 60LD 6T6TLIZ]

1) A-spopuis ewowll ugduled  oGuimdler
B em1pas6Ment BLILIL

2) A-sBenmuilest GLOUILS L&GHuied
CWIMILIfleb &6 Be060TH S

3) A-smenpuied 2 eiten WBWITHST BeDIDHEHDHG
@enL_Buw 2_aiTerm eniowl Benl_Geuer

4) A-speopuled o etern  wGWTH6T HeniDaE6i
s BLdhGld DHET DS EHHE
BenLCuiwimer entowl BenLGeuer

8. Leiau(mid gnmBmIEelel 618 2 amTento

1) GuBems senblier Hemev, GFHTelm  eTeuILDL
6UEMEITUILD SIFILTLE0SSHIL 65T
SIMFSBILBSHBS

2) Gupends ereublle HemeowITendl (LWeSTBHT6iT
QUEMGITLLIS 3| 60T M BHOUIGILDL| QUTHHSH
G T DIMFHBLILIBS B

3) Gumens eaeblleT  Hameowmeidl GBS
HEF & U 6T SIFILTL60S I 60T SO 68T
SIMFHBLILBH MBS

4) @6l eaGwienibl] QUTHHS GLOlulL 6ot
GoBenas 6TEVIDLIET FHeM60 ST HBLILIBH MBS

9. smadmen LBeWIBHLD LSIBL HenTeyl L HHBES
aufleuGLILG)
1) demenGaregefien smmmleveor GEFuwIedLPenm
2) 60T lgd SIN6VID &aTGH6e0
3) Gamijay
4) BoBev 2_6iTe SIMHSTHSHILD

10. UeteumeuatauBledbbadl  (PHIOBEVILDL|SH61T 6T

gflwnen euflengenwid CHibh0%HH&HBLD.

1) s1p50He0IDL - @BLIL - WOTTUDDB - FTHI6D -
GUTELGTEVILDL |

2) B1pHOBHEIDL| - OTTUEMB - FTdhIe0 - BBLIL -
6UT6LGIEVILDL

3) B1HOBIDL - OTTUMB - @B - FTEF60
6UT6LGIEVILDL

4) B(1pHOBH@IDL| - FTHF60 - @BLIL - OTTLmD -
GUT6VGTEVILDL

11. CH2 = CH2 + H2 — CHs — CH3
BoBov 2_aiTeN FLOGTLIT(H
1) e1586SexNeir &b FeBeammBmid
2) 615368681 @BHHBID
3) 9 5FMBaBBID DIGV6VH HHHBID BeVeM6V
4) GoBev GTHIAID B606M6V
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The correcT order of oxidation number of Cl in
the following compounds is.

a) Clog

b) ClO3

c) HCI

d) Cloz

l)a>b>c>d

2)a>b>d>c

3Ja>c>b>d

4)c>d>b>a

Which of the following is not disproportionation
reaction
1) Pags) + OH aq) — PHa(g) + H2PO3 (aqg)

2) Sis) + OH (ag) — S (ag) + S203%(ag) + H20q)
3) Cly(g) + OH (ag) — ClO @) + H20() + CI™
4) Fog) + OH (@) — F(aq) + OF2(g) + H20¢)

Balance the equation and identify the coefficients
x and y respectively.

XMnOZ(aq) + yl(aq) had MnOZ + |2

1)1&5

2)2&4

3)2&6

4)4&4

KMnOs reacts with oxalic acid according to
equation

MnO; + C20%™ + H* — Mn?" + CO; + H20
Here, 20 ml of 0.1M KMnOs is equivalent to

1) 120 ml of 0.25 M H2C,04

2) 150 ml of 0.1 M H2C204

3) 25 ml of 0.20 M H2C,04

4) 50 ml of 0.2 M H2C>04

The kinetic energy of a body of mass ‘m” at a
height h = R/2 from earth surface, when mass ‘m’
is thrown from surface with /gR speed. (R is
radius of earth)

1) mgR /2

2) mgR

3) mgR /6

4) 3/2 mgR

3
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Ueateumd  Gaomiseaied o eermr  Cl
5T CeBm 6TeuvTemN 60T FUWITET 6ufleng
a) Clog
b) ClO3
c) HCI
d) Clo;
a>b>c>d
2)a>b>d>c
3Ja>c>b>d
4)c>d>b>a

Seir

Leteu(heussieuBplied 6% alFHFFemspe| alleneot
B|606V
1) Pas) + OH (ag) — PHs(g) + H2PO3 (ag)
2) S(s) + OH (ag) — S %(ag) + S203%(ag) + H20q)
3) Cla) + OH (ag) — ClO (ag) + H20() + C1”
4) Fa(q) + OH (ag) — F(aq) + OF2() + H20()

FLOGTUTL ML FLOHleneoLILBSH (PpewmGul X LoBBILD
Y (& 6WISBRISEN6N SIGNLITEITLD SHTEuTeLD.
XMnOZ(aq) + yl(aq) — MI’IOz + |2

1)1&5

2)2&4

3)2&6

4)4&4

KMnOg gwestum’ 19est Lig &,chFmedld IO 60HSBIL 63T
alenenL|flslB g

MnO; + C20%™ + HY — Mn?" + COz + H20
®niBs, 20 ml 0.1M KMnOs é@ &b

1) 120 ml of 0.25 M H2C204

2) 150 ml of 0.1 M H>C>04

3) 25 ml of 0.20 M H2C204

4) 50 ml of 0.2 M H>C>04

yel Gumuyiiied @mbs h = R/2 o wirshded
o eitem ‘m’ Hlews GuTmHefler Busbs SLBB6L, \/ﬁ
GouadHgiLar  Gupuriiied @mhad Heos ‘m’
afFtiu@ Gurgl. (R ereug) yibluler eyyib)

1) mgR /2

2) mgR

3) mgR /6

4) 3/2 mgR
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The gravitational potential due to a system of two
concentric thin spherical shells of mass M and
2M and radius R and 3R respectively at that point
Pis

M
M
3R

GM
V=%

5GM
273w

3GM
3) N 2R

GM
AT

The escape velocity from a spherical planet is Ve.
The escape velocity corresponding to another
planet of twice the radius and half the mean
density is
1) Ve \/E

Ve
2)\/—7
3) 2Ve
4) 4ve

A planet moves around the sun. At a point P it is
closest to sun at a distance d; and has speed vi.
At another point Q, when it is at distance d»
farthest from sun, its speed will be

1) &%

In the following figure, if mass M is in
equilibrium, then the ratio of my and my is
(Neglect Earth’s gravity and m1 and my are fixed)

1) 3/5
2) 4/5
3) 3/4
4) 5/4

4
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bd Lemefuied (pewmBuwi M oBpid 2M Bmib
b R oppid 3R ol @gewi(a Oapeurest
Gevellw Bsmen gbBHellen SIMLOLIL| SHTFEUTLOTS
FETLIL| Sl3eir

M

M

1) -2
s
2) —=—
36M
3) ———
G
4) — BTy
@ Camend Cxmeafled BmHbal HLILNSHEGHLD Geusld Ve.

BrewiB LmIG YLD HBId uTg FITES ST
CEmewIL  WLBOBTH SHIHHIHIL T OSHTLJLemL U
SLILN&HGLD Geusld
1) Ve V2
Ve
2) NG
3) 2ve
4) VAVA

o Camel gflwenetd &M au(HSBSHI. @(H LsiTer
P 8 o di GOsmemevalsd aflweaisd s
SIHFe0 o eiengl LBBID Geusld Vi o siTengl.
BOEBT® Lsiell Q B6b, Sig g flwealed Bmba d2
CgTemevalled A(MHEBHGLOUTSHI, DiHet Geusld

dyv
1 2V1

Uateupd UL GHe0, mMempy M goBlensouied
BBhSHTe0, M1 WBHBID M2 aldHD (LBssemiliL
LptOuflest FTCIL DBEID M1 WBBID M2 BeneouwiTed))

1) 3/5
2) 4/5
3) 3/4
4) 5/4
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